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2A: A0S
ESES N =)
el A"y =0 (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
AL NS 38,809,270 34,622,416 4,186,854
= 300,407 247,407 53,000
z 988,000 988,000 0
2l 2,514 71,415 21,09
= 126,000 0 126,000
= 5,732,944 3,993,178 1,739,766
= 31,569,405 29,322,416 2,246,989
NP 19,353, 169 16,180,291 3,172,878
L= 3,484,633 1,886,785 1,597,848
z 15,868,536 14,293,506 1,575,030
ALy = 1,479,387 1,390,515 88,872
& 3,348 0 3,348
[ 1,476,039 1,390,515 85,524
Ce 2A2el 1,089,585 1,004,061 85,524
201 Zet=3hl 309,375 273,851 35,524
2 55234l 203,970 168,446 35,524
o223 88 HMA E=H sII1H 28 It
150, 0002 *150CH 22,500 0 22,500
OdlA7Y 1bE HEEH Xy |2l A
Me 2u2d & o3 10,000 0 10,000
OdlR7e 1bE BZEH 12 27|
1,920 5252 | e 32 3,024 0 3,024
401 AIEHIL 20| 383,000 338,000 50,000
01 Al&HI 387,000 337,000 50,000
Okzti+=2 =4 70,000 40,000 30,000
OL2 i |AA(EZAEE) 60,000 40,000 20,000
X WSS TA 3,348 0 3,348
< 3,348 0 3,348
101 1A 3,348 0 3,348
=S 3,348 0 3,348
04 JIAH =22 RS2+ 3,348 0 3,348
OXNgE nse =A 3,348 0 3,348
< 3,348 0 3,348
AL 9,201,319 6,718,899 2,482,420
< 3,018,785 1,534,285 1,484,500
z 6,182,534 5,184,614 997,920
NS ALY =8 1,899,882 1,609,162 290,720
202 Ot 4,320 4,800 2480
01 2LH0IL 4,320 4,800 2480
OXNgdgs g2 =8
20,0002 x3B 123 6 4,320 4,800 2480
401 AIEHIZL 20| 1,891,200 1,600,000 291,200
01 AlZHI 1,891,200 1,600,000 291,200
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Chel: ZAIDIE EER=E)
SN - B - SA(B) - NIRAY - BES 0 & ol B o HIRS2
| OFAYE TAIMAAIE X EX 0H 1,891,200 1,600,000 291,200
IS8 TAHY AL (ESE) 3,334,000 2,204,000 1,130,000
=S 2,000,000 1,520,000 480,000
i 1,334,000 684,000 650,000
401 Al HIYL S CHYI 1,634,000 504,000 1,130,000
= 980,000 500,000 480,000
s 654,000 4,000 650,000
01 AlZHI 1,630,000 500,000 1,130,000
ON=E TANY mEAS(H+8 283H
X)) HW Ar 1,630,000,000& * 14 1,630,000 500,000 1,130,000
< 980,000 500,000 480,000
= 650,000 0 650,000
2z ¥ gHE 2 162,460 157,060 5,400
= 4,500 0 4,500
[ 157,960 157,060 900
201 Let=Ehl 32,460 27,060 5,400
2 55234l 31,080 25,680 5,400
OdERE SS84H 552
1,350,000 x4 5,400 0 5,400
401 AlEHIYL S THYI 130,000 130,000 0
< 4,500 0 4,500
= 125,500 130,000 24,500
01 AlZHI 130,000 130,000 0
OZZ=EEE HE HEFEY
20,000,000 *37H 2= 60,000 60,000 0
=S 4,500 0 4,500
[ 55,500 60,000 24,500
CAAEEZ AL 844,095 794,095 50,000
401 AlEHIYL S THYI 844,095 794,095 50,000
01 AlZHI 840,000 790,000 50,000
OZAAEEZ FA2el SIS SAk 50,000 0 50,000
=L otE2d (AZ1-5) SENLAY 1,006,300 0 1,006,300
=S 1,000,000 0 1,000,000
= 6,300 0 6,300
401 AlEHIY S CHYI 1,006,300 0 1,006,300
=S 1,000,000 0 1,000,000
[ 6,300 0 6,300
01 AlZHI 1,000,000 0 1,000,000
OF=otsz(A21-5) SEMEAY 1,000,000 0 1,000,000
= 1,000,000 0 1,000,000
03 AIZ=CHYI 6,300 0 6,300
OT ot (221-5) SHMNLAY Al
Sl 6,300 0 6,300
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I-I;_(H: IlO:IthIF
Rl XIS IHEALS (SH9 H2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
KIS AL 8,672,463 8,070,877 601,586
< 462,500 352,500 110,000
= 8,209,963 7,718,377 491,586
FOEAE &F 69,986 81,400 A11,414
405 Attt = 48,586 60,000 A11,414
01 Tt =SS F=H 48,586 60,000 A11,414
Og A 48,585,280« 1CH 48,586 60,000 A11,414
FOE U AANS (SHIXIR) 292,500 282,500 10,000
< 292,500 282,500 10,000
401 AlEBIYL L THYI 292,500 282,500 10,000
< 292,500 282,500 10,000
01 Al£ZHI 292,500 282,500 10,000
Oti=2&HI(2E0IE8) 10,000 0 10,000
< 10,000 0 10,000
KSNLEEA (EHIXIH) 170,000 70,000 100,000
(= 170,000 70,000 100,000
401 AIEHIL 20| 170,000 70,000 100,000
< 170,000 70,000 100,000
01 AlEZHI 170,000 70,000 100,000
OAlg AM=0ts S2MEISA 25,000 0 25,000
< 25,000 0 25,000
OttAl 2E0tS S22 ZHISA 40,000 0 40,000
[ 40,000 0 40,000
OfY =20ts =22 HESA 35,000 0 35,000
< 35,000 0 35,000
Mol (E<)mlsh S ArY 503,000 0 503,000
401 AIEHIL 20| 503,000 0 503,000
01 Al&HI 500,000 0 500,000
OFSEa=) 150,000 0 150,000
—sS20S A=3AM 150,000 0 150,000
O&tMH 150,000 0 150,000
—250l= HA=3A 150,000 0 150,000
oddH 170,000 0 170,000
—=EE0I2 22 MEESA 40,000 0 40,000
—Zells A3 130,000 0 130,000
OA=gd 30,000 0 30,000
—EX0S =23 At 30,000 0 30,000
03 Al R0HHI 3,000 0 3,000
OSRUIHISFAY A0 3,000 0 3,000
CEZAE 2el 2,848,500 2,021,500 827,000
= 458,000 458,000 0
£ 50,000 0 50,000
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SA - B GR(31) - HIRAY - BES il &k ol @ o HimE=T
< 150,000 150,000 0
i 2,190,500 1,413,500 777,000
2 - S0HE &2 1,446,500 1,019,500 427,000
= 458,000 458,000 0
= 50,000 0 50,000
= 938,500 561,500 377,000
ZE - sHEEZ SXZ2l(XHHM) 277,000 1,000 276,000
201 2Bt ] 2,000 1,000 1,000
2 s3234| 2,000 1,000 1,000
OEXNS 248 fusesl 1,000 0 1,000
401 AIZHIL = 0HYI 275,000 0 275,000
01 Al&ZHI 275,000 0 275,000
O sHEZZE wE B222A 275,000 0 275,000
—BI2 AP, Arg2m 255,000 0 255,000
—&d 231 20,000 0 20,000
ZE - sHEEZ |XZ2(ER) 101,000 0 101,000
£ 50,000 0 50,000
i 51,000 0 51,000
401 AIEHIZL 20| 101,000 0 101,000
= 50,000 0 50,000
= 51,000 0 51,000
01 AlZHI 100,000 0 100,000
O HUXIZ S ALS 100,000 0 100,000
= 50,000 0 50,000
= 50,000 0 50,000
03 AIZ=CHYI 1,000 0 1,000
O3 HWIIZ HEAIE AlE 20U 1,000 0 1,000
oo SHEER SHEE 607,500 557,500 50,000
401 AIEHIZL 20| 602,500 552,500 50,000
01 Al&€HI 600,000 560,000 50,000
O =g MIEAIY dAEH S99 50,000 0 50,000
HE H==IC H2T2 HEAM 461,000 461,000 0
z 458,000 458,000 0
= 3,000 3,000 0
401 AIEHIL 20| 461,000 461,000 0
z 458,000 458,000 0
= 3,000 3,000 0
01 Al&ZHI 258,000 258,000 0
OXHEICHBCZ2NE 258,000 258,000 0
= 258,000 458,000 200,000
= 0 A.200,000 200,000
02 Zell 200,000 200,000 0
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OSeAelH(EEE=IC, EEH)
200,000,000 *14! 200,000 200,000 0
s 200,000 0 200,000
= 0 200,000 A200,000
YT 22| 1,402,000 1,002,000 400,000
= 150,000 150,000 0
= 1,252,000 852,000 400,000
o Y SsHEEZZ /72 1,051,000 651,000 400,000
401 AlEHIZ 20| 1,051,000 651,000 400,000
01 AlIZHI 1,050,000 650,000 400,000
Oz RIloll == A 400,000 0 400,000
SEME J|BIR= 8,127,785 7,519,785 608,000
= 48,000 0 48,000
£ 76,000 0 76,000
= 1,303,000 1,198,000 105,000
= 6,700,785 6,321,785 379,000
=018 5,013,099 4,463,099 550,000
= 48,000 0 48,000
£ 76,000 0 76,000
T 1,303,000 1,198,000 105,000
i 3,586,099 3,265,099 321,000
s2J|8t L2 Y 68,099 28,099 40,000
401 AIEHIZL 2018 40,000 0 40,000
01 Al&Hl 40,000 0 40,000
OsIIBAIE 258+ 2 EH|
10,000,000 *4H 2 40,000 0 40,000
NSHAXSE AN S LAY 210,000 60,000 150,000
= 105,000 30,000 75,000
i 105,000 30,000 75,000
401 AIEHIZL 28I 210,000 60,000 150,000
L= 105,000 30,000 75,000
ik 105,000 30,000 75,000
01 AlIEHI 210,000 60,000 150,000
OIISHAXNS ME 243 HLAIS
0,000,000 700 2~ 210,000 60,000 150,000
& 105,000 30,000 75,000
= 105,000 30,000 75,000
JtSUHl E==1Z A 60,000 0 60,000
= 48,000 0 48,000
= 12,000 0 12,000
401 Al&HIZ 20| 60,000 0 60,000
= 48,000 0 48,000
= 12,000 0 12,000
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M SEME J|gR
el sZ0|eHEH| EER=E)
SN - B SRA(BH) - HPAY - BES 0 & ol 8 o tmE==T
01 AlZHI 60,000 0 60,000
02023 ISl S ALY
30,000,000 *27H 2 60,000 0 60,000
= 48,000 0 48,000
= 12,000 0 12,000
a4 HEH 220t SE2AE N 30,000 0 30,000
< 30,000 0 30,000
401 AlEBIYL L THYI 30,000 0 30,000
< 30,000 0 30,000
01 Al£ZHI 30,000 0 30,000
OZ= EH 220t SE2E Y 30,000 0 30,000
< 30,000 0 30,000
M=Kl Jts2elAIAE 25 At 76,000 0 76,000
£ 76,000 0 76,000
401 AlEBIYL S THYI 76,000 0 76,000
= 76,000 0 76,000
01 AlEZHI 76,000 0 76,000
OM==Xl JISZCIAAE 2= At
38,000,000 *2IH A 76,000 0 76,000
s 76,000 0 76,000
Mol (<) Il S+AE 194,000 0 194,000
401 Al&BIL LY 194,000 0 194,000
01 AlEZHI 194,000 0 194,000
OFSEot— 142,000 0 142,000
—SHIXF =2 AL 25,000 0 25,000
—SHNMX T =2 ALY 10,000 0 10,000
—SH2X 7 =2 ALY 32,000 0 32,000
—EH2K 7 =2 AFY 20,000 0 20,000
—olelk+ A= 30,000 0 30,000
—3GteI2X =+ HH==Z ALY 25,000 0 25,000
O&tMH 52,000 0 52,000
—EEXT =2 AM 52,000 0 52,000
SE MEEd Fl 3,019,266 2,971,266 48,000
lzs 2l 567,366 519,366 48,000
401 AlEBIYL S THYI 548,850 500,850 48,000
01 AlZHI 546,000 498,000 48,000
Oz (2eHS EXISAt
1,400,000 *2157H 301,000 280,000 21,000
Otz (2ehHsS |+ 3At
150, 00024 *1,3007H 195,000 168,000 27,000
AN B33 95,420 85,420 10,000
2| A2 25,000 15,000 10,000
307 2Itold 25,000 15,000 10,000
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02 QIZHALAIHE X 25,000 15,000 10,000
O==clHl sXl2el 500,000 5000 2~ 25,000 15,000 10,000
WEHF WM 8,426,561 8,862,692 A436,131
= 252,407 247,407 5,000
s 530,000 530,000 0
| 92,514 71,415 21,099
= 795,311 758,393 36,918
= 6,756,329 7,255,477 AN49,148
WSoHM AHE= 3,746,418 3,941,418 A195,000
= 518,248 518,248 0
= 3,228,170 3,423,170 A195,000
WSHZFALS 739,622 934,622 A195,000
L= 44,900 44,900 0
i 694,722 889,722 A195,000
201 2E2 & 95,122 65,122 30,000
02 2324l 78,436 48,436 30,000
OuESHMAIEE B222(USEUSEI| S) 55,200 25,200 30,000
401 AIEHIZ 2018 636,800 861,800 A225,000
= 44,900 44,900 0
i 591,900 816,900 A225,000
01 Al&Hl 634,800 859,800 A225,000
QusotdEIEH = 4X ¥ Wil 0 150,000 150,000
OL:d3)| #= 2 WHl 0 80,000 280,000
O30t X 0 25,000 225,000
OUBI0IBSPE (- HEAI) M =4 30,000 0 30,000
tsns X 4,555,843 4,796,974 A241,131
= 251,207 246,207 5,000
= 530,000 530,000 0
| 2,514 71,415 21,099
& 211,263 174,345 36,918
= 3,470,859 3,775,007 A304,148
SHEHAXA 1,421,930 1,401,375 20,555
= 225,000 225,000 0
T 117,668 80,750 36,918
= 1,079,262 1,095,625 216,363
307 QI2Hol A 1,421,930 1,401,375 20,555
= 225,000 225,000 0
L= 117,668 80,750 36,918
= 1,079,262 1,095,625 216,363
09 2-HHEXS 1,421,930 1,401,375 20,555
OsHEHA MHEXA 467,881 339,741 128,140
= 117,668 80,750 36,918
ik 350,213 258,991 91,222
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OElled =484 749,339 865,000 /115,661
= 225,000 225,000 0
[ia 524,339 640,000 115,661
OoHes a2y 204,710 196,634 8,076
WS X&A 260,038 204,368 55,670
| 92,514 71,415 21,099
[ias 167,524 132,953 34,571
307 212t01& 260,038 204,368 55,670
92,514 71,415 21,09
167,524 132,953 34,571
05 elzt?(& = 260,038 204,368 55,670
OSgusS=t 24| 209,002 183,332 55,670
70,914 49,815 21,099
= 138,088 103,517 34,571
U= S=EN 299,644 627,000 A327,356
307 212+01™ 299,644 627,000 A327,356
09 2YHEXS 299,644 627,000 A327,356
ORIEXZ X2 299,644 627,000 A327,356
— 01 198&%19,800L+ 122 47,045 52,002 N4,957
—3t= 1523+ 138,486+ 123 252,599 574,998 A322,39
A2 SEusst 234 X 44,614 34,614 10,000
= 22,307 17,307 5,000
[ia 22,307 17,307 5,000
307 212+01™ 44,614 34,614 10,000
= 22,307 17,307 5,000
s 22,307 17,307 5,000
05 2IR”IAE S 44,614 34,614 10,000
OSgus=st 24| 44,614 34,614 10,000
= 22,307 17,307 5,000
[ias 22,307 17,307 5,000
HWREs(HEusEM) 15,107 0 15,107
BEX= 15,107 0 15,107
ERSPNE 15,107 0 15,107
802 Btet=JIEt 15,107 0 15,107
02 Al - EHIEXSEtet= 15,107 0 15,107
02023 Jt=sHAXS
SH| Ha&on ghgt 390 0 390
O20223 =YI|8tEH| (2D HIANY) =HI
T AN B, 3,926 0 3,926
O20223 =YII8tEHI(=
2IALR) SH| &SR 916 0 916
o222 HASHE HAIE N AL
2 AN BHf 470 0 470
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H: NRES(ALDED)
=9 =84S (EH9): ®2)
SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
0202148 X =i KIRAIR &8 O|XpoH Phet 517 517
00224 HASUE HYBEHAIL A
o OIXreY ghy 41 41
0202244 =M KIRAY & SOIXHY BHt or7 or7
020 I2LHY MMHIA SABAK X2
FRoH ghy 2,400 2,400
O2218 MHILIA Q&IISHT H= =X &
B T 252 252
0020 IZLHY MALIA S2BAK XIS
AHQS OIXF24 24 24
O2A218 MHIHIA HAIISHI HH =X &
# OI XY 5 5
0221 BHAIRS IHE24E NAAY T
ok phgt 1,970 1,970
02214 HAIRS IHES4E NBAY T
OIXt et 12 12
022148 HAIRS IESAE NBAY T
OI Rt phet 1 1
O2p1E S0E ZNSEM SSEAl XA
o TR By 750 750
0221 SHAIRS IESHE NBAY &8
Zrou pht 38 38
O2R1E S01&E ZNSEM SsteAl XAl
o TBOIX B % %
02019 S01E ZNSEM SSEAl XA
o TN By 9 9
0019 HAIRS IHE24E NBAY &8
Tk uh 2% 2%
0019 HAIRS IHESAE NVAY T
Tk ph 27 27
0019 S01E ZNSEM SSEAl XA
o FBOIX B 41 41
0019 HAIRS IESHE NBAY &8
Ol Xt Bt 2 2
00194 HAIRS IHE24E NV B
OIXt phet 8 8
O BHAIRS IHESLE NAAY T
Tk phgt 2,568 2,568
O S0{&E NS SateiAl XA
ZBOIX BHef 53 53
02 HAIRS IHEL4E XIBAY T
OI Xt phet 20 20
0224 BHAIRS IESHE NBAY &
OIXt et 2 2




